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Time : 2:00 Hrs. Max. Marks : 70

Note :— This paper is of Seventy (70) marks divided into
Two (02) Sections ‘A’ and ‘B’. Attempt the
questions contained in these Sections according to
the detailed instructions given therein. Candidates
should limit their answersto the questions on the
given answer sheet. No additional (B) answer

sheet will be issued.
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Section-A
J00oo-ao
Long Answer Type Questions
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Note:— Section ‘A’ contains Five (05) Long-answer
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)

questions only.
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1. What do you understand by hire Purchase-System ?
What is difference between hire Purchase system and

Instalment Payment System.
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2. Explain Royalty and Short working. How is short

working account kept in the books of the lessee ?
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3. Describe the various methods of valuation of share of a

joint stock company.
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4. On April 1, 2019, ‘X’ purchased a motor car from
Moradabad Automobiles on hire-purchase system. After
paying < 40,000 immediately and agreed to pay in three
annual instalments of I 40,000 every year. The cash
price of motor car is of ¥ 140,000. Moradabad
Automobiles charges interest @ 10% p.a. The buyer
charges the depreciation @ 10% p.a. by diminishing
balance method. Give the Journal entries and open

necessary accounts in the books of hire-buyer.
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5. Amit Company Ltd., Agra had their branch in Aligarh.
The following are the transactions between the Head

Office and the branch for the year ended 31st March,

2022 :
4

Opening stock (1st April 2021) 60,000
Goods supplied to branch 1,50,000
Cash sent to branch for :

(Rent) 700
(Salary) 1,600
(Other expenses) 200

Cash received from Branch during the year 1,80,000
Closing stock (31 st March 2022) 45,000
Closing balance of petty cash 30

From the above information pass the necessary journal
entries and prepare ‘Aligarh Branch Account’ and other

necessary accounts in the Head Office books.
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Note :—

I

Section-B
000041
Short Answer Type Questions
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Section ‘B’ contains Eight (08) Short-answer type
questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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1. Write short notes on the following :

(@)
(b)
©
(d)

Manager’s Commission
Passage money
Passenger fare

Surcharge
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2. Describe in brief the insolvency procedure.
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3. What do you understand by Fire Insurance Claim ?
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4. Explain the various methods of evaluation of shares.
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5. Distinguish between Amalgamation in the nature of

Merger and Amalgamation in the nature of purchase.
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6. What are the advantages and disadvantages of holding
company ?
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7.  The following particulars are available in the books of

Bharti Telecom :
(i) Capital employed ¥ 1,50,000
(i) Trading profit after tax
2019 % 1,12,200
2020 % 1,15,000
2021 % 1,02,000 (loss)
2022 % 1,21,000
(iii) Market rate of interest on investment 8%.

(iv) Rate of risk return on capital invested in business

2%.

(v) Remuneration from alternative employment of the
proprietor (if not engaged in business ¥ 13,600
p.a.).

You are required to compute the value of goodwill on

the basis of 3 years’ purchase of super profits of the

business calculated on the average profit of the last four

years.
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8. The following particulars are available in respect of

Goodluck Limited :

(i) Capital 450, 6% preference shares of I 100 each
fully paid and 4,500 equity shares I 10 each fully
paid.
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(i) External liabilities : T 7,500.
(ii)) Reserves and Surplus : I 35,000.

(iv) The average expected profit (after taxation) earned

by the company X 8,500.

(v) The normal profit earned on the market value of
equity shares (full paid) of the same type of

companies is 9%.
(vi) 10% of the profit after tax is transferred to reserves.

Calculate the intrinsic value per equity share and value

per equity share according to dividend yield basis.

Assume that out of total assets, assets worth of ¥ 350

are fictitious.
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